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A ™

i} Genersl Awareness

Recently CBI Director

announced a special unit o probe
corrupt practices like cases of fraud.
fixing and illegal betting in sports,
{A) Mr. D. P. Kohlj

(B} Mr. Ranjit Sinha

(C) W, Vijay Durda

(D}  MNone of thezse

Transgenders were granted the
status of - by the Supraime
Court on April 5, 2014 in a landmark

ruling that will entitle them to henefits
of the central and state government

welfare schemas,
(A} Firstgender

(Bl Second gender
(C} Third gender
{0}  Fourth gendser

Satish Dhavan Space Ceantre is at
{A} Hassan

(B) Srirampura

(C} Thiruvananthapura

(D) Srihanikota

4,

—— Was sworn inas the new Chiaf
Justice of India on April 27, 2014,

(A7 Justice Mr, P. Sadhashivam
(B} Justice Mr. B. M., Lodha

(C) Justica Mr, P. Mukharjes
(L0 Justice Mr. B, K, Dhowan

——Was on Aprl 6, 2014
namad captain of the 2014 10C World

T20 Team,

(A} L P Buminy
(8] Glenn Maxwel|
(G} Darren Sammy
(D] M. 8 Dhoni

Mr. Narendra Madi was sworn inon
20-5-20 14 asthe—— Prime
Minister af India,

{A) 18"
(B} 14b
(G1 1ah
(B Mone of these

Expansion of IIFA is

(A)  Indian Intermational Filrm Academy
(B) International Indian Film Acadamy
{G)  Indo International Film Acacemy

(D) MNome of these
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8.

10.

11.

was selected for the 45h
Dada Saheb Phalke Awar_d for the
year 2013. .

(A) Amitab Bachchan o

8) Ra]amkant o

(C) Girish Karnad
(D) Gulzar

*India. Wms Freedom isi the |
_autoblography of . o
Ay __Abdul Kalam Azad

(B) . Zakir Hussain :

(C) Mahatma Gandhn |
(D) _Jawaharlal Neh.ru e

Two persons are nommated by the |
President to ‘be members of'. xo

Lok Sabha to representthe
(A) Indian Christans

(B)' Anglo Indiané' '

©) Buddhists

(D) Parsis

The Government on April 29, 2014
disclosed to the Supreme Court the
names of 26 people who had
accounts in banks |n Ltechtenstem
revealed to india by ——

authorities.
(A) British - (B) ltalian
(C) Swiss (D) German

mmuwmmmmm|

12. World Environment Day is observed on

(A) Juned
() June 15

(B) May1
(D) April 14

" ndian High Commissioner

Mr. Virendra Gupta, launched an
education outreach programme on
April 25, 2014 in Pretoria. Pretoria is
located in

(A) Kenya

(B) South Africa

~(C) Zimbabve

(D) None of these

1. On April 5, 2014, who won the 51%
- - adition of the Famina Miss India 2014

crown?

(A)_ Ms. Heena Rani

B Ms. Sujatha Ral

(C) Ms. Koyal Rana
(D) Ms. Prestham Singh

. Who was the Chairman of the

Drafting Committee of the
Constituent Assembly 7

(A) B.R. Ambedkar

®) C.D. Deshmukh
(C) Babu Rajendra Prasad
(D) Jawaharial Nehru
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18.

T¥,

18

18,

20.

Inthe event of non-enforcemant of
Dirsctive Principles of State Falicy
by the Government, a citizen of
India can movae the

(A) High Court

{B) Suprema Court
(&) District Court
(B} MNone of thase

The joint sitting of the Parliament iz
presided over by the

(A} Prasident of India

(B) Prime Minister of India

(C}  Chairman of the Rajya Sabha
(D) Speaker of the Lok Sabha

A persan having AB-group of bload
can dorate Blood o g [rerson having

A A-group (B} B-group
(G}  AB-group (D)  O-group

The atmosphere is heatad mainly by
A} Insolation

(B) Conduction

{C} Radiation

(DY Convection

Motilal Nehry and Chittaranjan Das
ware the founder-mambers of the

(A} Swarajya Parly
(B} Forward Block
[C} Congress Party
(D) MNone of these

21

<2

23

24,

e —

T, P

A narrow strelch of water
connecting two seas is called

(A} Bay (B} Straight
(C) Peninsula {0} Plataau

Which of the fallawing cOMmpanies
has been declared at top pasition
among Infarmaltion Technology
Software and Service Exporters for
2013-2014 7

(&) WIPRO

{8y TCS

(C) IBN India

D) Infosys Tech nologias

Whe painted the masterpiece
‘Hamsa Damayanthi® 7

(A} Amritha Shergil
(B} K. K. Hebbar

(G} M. F. Hussain
8y Haja Ravi Varma

Among the four sons of Shah Jahan,
whois cradited to have got transiated
Atharva Veda 7

(&) Shujg
(B]  Murad
{C} Dara Shikoh
(D} Aurangazehb

16

o e
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25,  Which of the following battes marked

28, Who wag the last Mughal Empearor
of India 7
(A) Alcbar ||
(B} Bahadur Shah ||
(€] Alamgir i
{D) Shah Alam ||
27. The latitudes that pass through
Sikkim also pass through
(A)l  Rajasthan
(B} Punjab
(C) Himachal Pradesh
B Jammu and Kashmir
28, Shivazamudra iz anisland formed by
the river
(A} Ganga (B} Godavari
(Z) Krishina (D) Cauvery
28, The electronic configuration of an
atom having atomic number '20° s
(A} 2.8.10
(BY 28,8 4
(C) 2,882
{I¥) 2 10,8

A=

the real beginning of the Mughal
Empire in India 7

(A} Battle of Talikota

(B Ballle of Haldighat

{C} Firsl Battle of Fanipal
()  Second Baille of Panipal

20

31.

33

T et

One byle consists of
(A1 One bit

{B) Fourbits

{C)  Eight bits

{D} Ten bits

Who amaongst the fallawing s g
lamous economist 7

(A)  Richard Dawkins
(B} Alan Greenspar

(T} Vermnon Heywood
()  Stephan Hawking

- Whoiwas the author of 'Gitg Govindg' 7

1Al Jayadava
(B} Kalhana
(C1 Kalidaza
{0} Raja Rag

Identify the odd one in the balow
given sel. The odd one doeat
balong to the category te which the
remaining throe belong,

{A)  Calyx

(B) Carolla
{T] Slamens
(D Madrib
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F.- a4, Winter ‘::'|}"|'I'If.'liL'!5 2014 will be 38 ElEEI.GhiI"IQ: pewder is usad in o4 .
; hefd in e
drinking water as afan
: (A)  taly
(&) Diginfactant
B} Brazil
) USA. (B) Antibiotic
()  Russig ()  Antiseptic
35, A slick immersed in water appears (B Coagulant 95,
bent due o the phenomeana of
38, Of which of the following states of
(A)  Reflection of light
India is Kuchipudi a dance-drama ?
{8} Diffraction of light
(G} Refraction of light Wy helein
(D) Dispersion of light (B} Andhra Pradesh
36, The Thar Exprass goes to ' Cringa 36
(A1 Atganistan {2} Tamil Madu
{B} Bangladesh
40. Raman Magsaysay Award is
{C) Pakistan
resented o parpeluate f er
(0 Myanmar BiE i sl
- __ President Ramon
7. MName the process of production of Magsaysay. B
enerdy in the sumn.
A laysi
{A) Nuclsar fission {fh Malsysian
(B} Radioactivity (B} Singapore
(C)  Muclear fusion (G} Phillppin's
IR lonizalion (D) Indonesian
A Az A

I.__ e
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41.  Which of the following is equivalent of | 44, The fifth term of the alphabet series

T _'-I!. —
T

-

42,

43.

Canada, Chile and Germany ?
(A) Ottava

{B) Paris

(2 Chicago

(B}  Singapore

Through how many degreos doas
the hour hand in a clock move as
the time changes from 3 Riours and
35 minutes to 6 hours 7

(A] 7
B 84
(G} 76

(D) 80

In a certain coda YIELD is written as
‘FEd e %" and PLANT Is written as
‘Ba@«" How iz DELAY written
in that code 7

(A) % 42@[
B) %4@2p
(€} %24@p

(D} o243

BCYX, EFVU, HISR, KLPO, is
(&) ONML
(B} MOLM
(T} NOML
(D} ONLM

Directions (Qs. 45 to 47) ; Study the
inforrmation and answer these questions ;

In & cerain code languags

‘demand and supply economics” iz writtan
as, 'mo ta pa ka"

‘demard makes supply economics” is
written as, "zi mo ka ta'

‘money makes only part” is wrillen as "zi la
re ki

"ACOnNDmiICS |5 natl money" is written as "ka
lahoga®

45. What is the code for 'economics’ in
the given tode language ?
(&) ta
(B) ma
(C) pa
(0 ka
48. What is the ¢ode for 'money’ in the
ghven code language 7
(A} a3

{B) mo
() la
(0} ta
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47. What is the code for 'makes in the
Qiven code languagse ?

(Al .z
{B}
(C)
i)

mc

pa
ne

Directions (Qs. 4810 50) * Six students A B,
C, D, Eand F are the top six rankers of tha
| elass, No two students got the same rank,
Siudent who got the highest marks iz given
rank 1 ancthe student who gat the feast marks
Is ghvan rank 6. ‘B’ got fess marks than bath

i

Coand 'R, A got more marks thap 'E bulless
then ‘D' 'B' got the second jeast and F get
second highest. 'C' got less marks than ‘A

48, Who got the third rank 2
(A C
(B} A
iCy E
i0)  Mone of these

48. Who got sixth rank 7
WA D
iB) C
G} E
(B} B

50, Who got fourth rank 7
(A) D
B
IGE A

(O} None of these

A T lf‘_]-l. (il
Directions (D, 51 i 83} : Bead the ”[&" .1

infarmatian carefully and answer thesa
Guestions. : LAY
I P + G means P Is the father of G L 8l
HPxQmeans Pis the sistar of & e :
HF & Q means Pis the wifa of O H'%
IF-P % Q) means P is the mather ot -
It P+ @ means P is the son of O it
il
51, What should comein place of * mark ﬁmﬁ?ﬁ'ﬁ
io-establish that J is the Brother of T ﬁﬁ ik E":
Inthe expression 1) + R% H+ T2 W%H
ST o
{"I!".:I = %ﬁﬂ' o
(B) + HiF
G 8 HFA T
(B}  Mong of thess ig
2. Whichamong the given expressions i
Indicata that M is the taughtar of D 7 L
(
A L% RED+TxM E‘,I
B} L+RED+MxT
C} DeLERA+MxT 49, 3
(D) MNone of these t‘
E
53. Which among the given expressions f[
Inticate that T s tha daughter of 7 I!
e o
(A) WeLwTx K g0,
(B] WoHl+TxKksl
(G} WK TeyeL
(D) Mone of these

A

<15
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Directions (D5 54 and 55) : Ineach of these
fueshons two or three staterments are given

followsad by conclusions numbercd | and 1.

6T e el o

You have 1o assurme all staterments o be true
aven il hey seem (o be al variance from the
pommonly known facts and then decide
which of the given twe conclusions logically
fallews from the information given in the

statements.

Give answer

{A) 1 onfy conclusien | follows
(B) i cnly conclusion || falkows
(G} i neithar | noe 1 follows

(O} i botiy | and- I follgw

od, Statements:All 50ngs are poems.
All poerms are rhymes,

Mo rhyrme is a paragraph.

Conelusions ; | Allrhyrmes are poems.

[l All songs are rhyrmes.

56, Statements: Some dews are drops.

Al drops are stones.

I M

Directions (Os. 56 and 57) ; In thess
questions from the given alternative words,
choose the word which cannot be formed

using the lettars of the given word,

568. UNEQUIVOCAL
(A OCEANM
(B} QUILCN
(Cy CUAINT
(Dj MNAIVE

§7. HYPERCATALETIC
(&) PERCENT
(8] PABALETIC
{C) RECEIPT
(01 ERATIC

58, IT'M dendtes 'added to', 'F' denotes
‘multiphied by, 'B' denotes 'divided by’
and 'T' denotes 'subtracted from’, then

what should be fhe correct response
of TREM1ETI2B3 7

{Ay 45
Conclusions . |. At least some dews _
are slones, {Bj 58
Il At least some slones (L) B4
' are drops, (D] &2
|
| As 18-
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80.

B1.

6.

B

In & certain coda SAARG i3 written

as CRAAS How KASIM can be
written in that code 7

(A MSIAK
(B) MISKA
(C) MSIKA
(D) MISAK

Find out the wrong number in the
gequence

102, 101, 98, 93, BE, 77, 65, 53,
(&) 28
B) 86
C) 65
(D) &3

H B35 = 16 = 90, 46 « 22 = 96,
20w A8 =576, then 17 x 24=7

(A) 56
(B 288
(C) 48
D) 64

i each of the letters in the English
dlphabtet s assigned odd numerlcal
value beginning A=1,B=30=5
and so on, what will be thetotal vajue
of the lelters of the word "HATE" 7

(A] B8
B) 64
(C) 62
(D) &0

T VTR

Mohan walks a distance of 3 km toward
Marth, then lums 1o his left and walks
for 2 km. He again turns lefl and walks
for 3 km At this point he time to his left
andwalks for 2 km. How many kKilometers
is he from the starting point 7

(Al S km
(B} 4km
(C) 2km
(D) 1km

Vani iz ayear oldaer than Smitha. Smitha
s two years older than Sanjay. Raju is
a year oclder than Sanjay. Who |5 the
voungest af ali #

{A). Banjay
(BY Raju
{C] Smitha
(D} ¥am

A group of letters are given with each
heing assigned a number serially
from 1-to 8. These have 1o be
unserambled into 2 meaningful word
arid correct order of letter may be
indicated from the given responses,

YMLOSBC

(A) S6241387
(B} 51264387
(C) 21645387
(D) 47685321

B1.
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Directions (Cls. 66 o B8) : Examine carafully
the following statement and answar the
fuestions that follow.

Ol of four friends AB Cand D
B and C play ericket and hockey
© and D play hockey and basketbal|
A and O play basketball and football
A and B play football and cricket

6G. Who plays football, baskethall and
hockey 7

AL A
B B
CIG
o) o
67, Who does not piay hockey 7

Ay 0

{B) C

(Cy B

(D) A

68, Which game do B. C and O piay 7
(A} Football
(B} Heckey
(C) Basketball
(DY Cricket

| iy

Directlons {Qs. 69 and ) Read the

following infarmation tq answar thoge
questions,

|} ABCDEF and G are sifting afong &
circle facing the centre

i} A s betwesn G and (B

i) Cwhois 2™ 5 the right of D s between
BandF

v} Bs not tha neightiour of E

B9, Which of the following is a corract
slatemeant 7

{A) Gisbetwean A and [
(B) Dis 2" the lafiof
(C) Cis 390 the left of A
(D} Adsto the immediate left of D

70, What is the position of E 9
{A) Betwesn Cand G
(B) Tothe immediate lef of
{€) 2™ o the leftof C
(O} 2™ 46 the left of B

Directions (O=, 71 1o 13) | Select the cne
which is different from the othar three
rESponseas.

71, (A} Rhombuys
{B) Sphera
(&) Parallelogram
(B} Triangle

72, (A) EDC
B QPD
(C) WUS

D} ML

o

B T 1 L.

T
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73 (A} Aos 78, Which one of the following words.
(B} 169 appaa;murﬂ?rn.ﬂaaEng!fahaicth'nam?
{C) 225 '
(D) 2 (A} Encraach

B Encounter
4. (A Sglare rgop
_ B) Sauare feet

(C) Squara Metre

() Encradis

(D) Encuur&ga

(0} Squars fhch

Directions Q5. 79 an B0} . Find tha Missing
numbar fram the given alte

75, A} Blunt . Fainteg
B} Soft- Harg
(C) Long - High
) Swast - Soyp

Matives

78, 18, 36, 64, 7,144 185

(A} 8§
7B, Find the Wrong numbar In the given (B} B9

Serles,

€] 121
8,18, 24, 36, 48, 54
i8) a9 (©} 1op
(B) 24

80. 2 3 3 5 4

(C) 18 _
(0} &4

| 77 in a canam cods, DAUGHTER i5
' written gg TEHDAUGH, hew will

1%+ Bg i 13
APTITUDE be Written i that code ?

(A DUEARTIT Dl
(B) DAUEPTT =) 26
(C) DEUAPTIT C) 13
0} UDEAPTIT D) 17

Av
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81.

82,

83.

4.

T 0 )

i) Arithmetical and Mumericai Ability

A man buys one lea able and ohe
chair for T 500, He selis the lag tablg
ataloss of 10% and the chair al again
of 10%. He st gains ¥ 10 on the
whote. The cost price of the chair is

(A Tas50 (B} %3p0
(C) #2850 0} 2200

A train 100 metras long moving at a
speed of 50 kmdhr takes how miueh
tims to cross another train 120 Mmeires
iong ceming from opposite direction
at a speed of 82 kmyhr 7

(A) 8 secs
(B) 12secs
(C) 10 secs
(D) 4 secs

HC.F andL.c.m, of two numbers ara
10 and 200, | ong of these two
numbers is 50, find the cthar,

{A) 20

(B) 30

{C] 40

(D) 100

If the fength of a chom of a circle,
which makes an angle 45° with the
langent drawn at ane eng point of the
chord is 8 em, then the radius of the
circle g

(A} Bom
[':l:' E'-,.'r_E cim

(B} 342 em
(O} Hem

85,

8i,

87,

A parson lravels 285 Km it 8 hrs; In
the first part ofthe feurney, he travels
at40 Kmihr by bus. |n the second part
he travels at 55 Kmihr by train. Tha
distance travelled By train is

(Al 158 Km
(B1 B25 Km
(C) B15 Km
(D) 1685 kKm

The diameterof a garden rollaris 1.4 m
and it is 2 m long. The ares covared
by the roller in 10 revolutions is

(&) BB m2
(B) 44m?
{C] 8.8m?
{D} 76.8m2

A die is thrown twice. What iz the
probability of getting & sum 7 from
both the throws 7

3

(A) P

\B}

(C)

g

()

0| =k
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B8,

g
—.7-_-..-.-1.!.:5 3

=

- B8,

80,

o1,

The value of x when 5% of Soy s
0.0 will e

(A} .02
(C} 0.05 (D}

(BY b.01

G.03

The rate of simple interast at which a
Sum of rmoney becomes three imas
In 25 years is

(A) 4%

B} &%

(G} 5%

(0 a9

A grain dealer cheats to the extant of

10% while buying as well as salling
by using false welghts, His total profit

percentage is
(A) 21% (B) 20%
[C) 25% () 23%

The radius of a circle is 19 en. The
length of the chord which s at a
tistance of 12 cm from the cantro of
tha circle is
(A 12 em
(Bl 20cm
(G} 15cm

(B} 10em

ge.

93,

A T R

Fa+b=6 a-b=2 then the vajue of
2(a°+ b is

(&) B0
(B} 40
(C) 20
(D) 10

A, Band Pare three poinls an a circle
having centre O. If | OAP - 25¢ 4ng
| OBF = 25 then the measure of
_| AOE 5

Ay 160

By 80°

(Cy 75°

o fz0

A sguare js inserlbed in a circle
of radius & em, The area of the

squara is

(&) 16sg.cm
(B} 128 sq.om
{C) 64 8g.cm

(D) 148 sq.0m
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895. The prize money of T 1,800 s divided
among 3 students A, B and © in' such
a way that 4 times the share of A is
equal to 6 times the share of B, which
is gyual to 3 times the share of G,
Then A's share iz
(&) TEn0
(B} 7400
(C) %800
By Troo

BG. 12 men construct 1.5 Km of road in
7 days. 28 men will conatruct 12 Km

of road in

(&) 20 days
(B} 2B days
(Cy 24 days
(D) 38 days

97. Fromthe digits 4,5, 7,8, 1 how many
thiee digitodd numbers can be made
using each digit only ance ?

(&) 10
(B} 20
(Cy 30
(D) 38

a8,

100,

(D) 78cm?

‘and 78, 5o that the ramaindsrs are in

VAN MO VA
For ¥ 5,000, at 10%, the differsnce
betwean the compound interast and
simple intarest for 2 years is

(&) 7100

(B} 80

[C) T 120

(D) T80

¥ A ABC is similar io ADEF such
that BC = 3 em, EF =4 &m and area
of AABC = 54 cm?, then arsa of
ADEF is

(A) 55cm?

{B) Bfcm?
(C) Bdem?

What number should ba subtracted
from each of the numbers 23, 20, 57

‘proportion 7
[A) 5
(B) B
(C) 4

(0 3
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101.

102,

103.

A

JDD-7THCX-14

FA:B=3.4andB:C =867, find
A:B:C

(A 18 2411
(B} 9:12:14
(C) 9:14:12

(D) 18:12:25

F3A=4B=6C, find A:B:C
(A) 4:3:2

(B) 24:18:7
&) 16:9:7

B} 3:4:8

The radius of a aphera is & cm, It la
meltad and drawn Inte & wire of

diameter 2 mm. Find the length of the

wirg In metres
[A) 862 m

(Bl 872m
(Ck 870m

(D) 800 m

104.

105,

108,

Two clrcles with radil 8 omand 4 cm
touch each other extamally. Find the
length of the direct cormmon 1angent,
(A)
(B
(C)
{D]

13 em
17 cm
12 om

10 cm

A metallic sphere of radius 10.5 om
is malted and then recast inta small
cones each of radius 3.5 em and
height 3 cm. The number of conas
thus obtained is

(AL 112

(Bl 118

Sy 120

(D] 126

How many diagonals can be drawn
in & decagaon 7

LA}
(B)

55
45
(C} 38

(0) 25

m—

7

103,
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107.  Inaschool, the studsnts either spaak
English of Kannada or bath. If 350
spaak English, 250 speak Kannada

and 150 speak both English and

Karnada, the tetal numbar of students
- imthe school is

(A) 400
(BY 600
(C) 450
(D} 500

108, Mr. Suresh invested 7 52.000 on
shares of face valus * 100 ata
discount of 7 20 paying 8%
dividend, The annual dividend he
gels from this investment is
(A} T 5000
{B) T 4180
(C) %5100

{0 % 5200

109, LCM of {ab —b%) and {a? - b3 is
(A4) a(a®— b3y
{B) bia®—b%)
(C) {a®-b2)
(O} bfa-b)

A=

i10.

111,

112

143:

{A) 330

N A

IT twanty five percent of three savent 107
of twenty siv percant of 5 number is
136.5, what is the number 7

(A} 6300
(BY 5500
(C) 4800
(D} 4500

I a school, thare are 11 teachers
including the Headmaster. Fram
these 11 teachers, how many
commitleas of 4 teachers including
the Headmaster can be mada 7

(B) 200
G} 120
(D) 240
3 i
f18e)” —(84)” - Wio? =9

(&) 10

B} 0
() 4
{D} - none of thess

The diagonal of & squarre is 842 om.
The perimeter of this 5qqa;re is

{A) B4cm
(B) 48cm
(C) 32cm
2 40 em
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114, Wha is the sum of the first 20 odd
natural numbers 7
(&) 400
(B) 200
{C) 420
(D} _ 440

115, AB and CD, two chords of a circle
intersect at a polnt Bt | APC = 8o,
L@:ﬂﬂ‘,miuem &CE is
A) 808
(B) a5
) s
D) 5o

1 : 3
PR e iy K2 B e
116. Ifx-l-_x 2, thenx +:3:K+_H o

(") 18
B) 18
(C) 8
Iy g

177. Father's age s seven timoes his son's
age. After five years, his age becomes
four times his son's age, What is tha
present age of the father ¢
(A) 45yrs.

(B] 30yrs.
(S} 40yrs.

(D} none of those

118

118,

120,

€ 755

LTS
When the price of TV set was
increased by 30%, the nurnber of Ty
séls soid decreased by 20%. Whal
was the affect on the sales 7

{A) 8% decrease
(B) B% incroase
(C) 4% increase

(D) 4% decraase

Greatest among the numbers
o3 48, Yen is

(A oy

& J&

(C) 416

(B} %s0

P has twice as much money as that
ol Qand @ has 50% more meney than
that of R, If the average money of all

of therm is ¢ 110, (hen the maney
which P has i

(A % 80
(B) %80

{0} 7 180
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iv) Test of Language : Hindi y
WIET Tz ;T
[ 121, HFH=AFAEIH 125, "WEA 995 T HEEET w1
1'- Fad g | (A i
(B} Fmvndl () &
(€} ferd D) TR
{0 e o =
_ . 126, 'wEInE werE i ey
122, ‘T e REG e (A) =
(A} i (B) @R
(B) = (€} A
(L} T (D) =EIEE
(o s '
127, 'HET 9 IEGTEE T
123, wilEa svERy ofm i Ay e
FEA B
11 (8) =t
(&) T
. (Cy B
(B) ==
| (D} ERT
! (C) =t :
(D) e 128, WL & 30§ "] 51 499 3 B
| 124, vl v v o EeE
." . (A A
.'I B e (B} Tl
i,_ _ (©) T () W
0y T (D) T
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o R e R e A A
_ mEAmE |

133,

(A =
(B) Trm
) =@a
D) =

134, BEwem _ femd |
(A)

(B) #
G} n

(0) #*fm

135, ‘i i O o
(A}
(B) Wi

| | (C) =m

(D) ww

'I 182 wmEiEE Remd | oo __ = R .
(A} Ze (A 3
B) ue (8) ™ -

(C} o (€) Hzm
(D) ®e _ PR D) &
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137, " o w g Wy
(A) Fge
(B) T
(C) Togel
(D) FEm

1838, g3 wme v a
(A) T
(B) Ha
() wemd
(D) @iy
139, 97’ Wz = ey o=
(A} FH
(B} =
C) F=m
(D) A

140, “stemrg w5 s en
(A) =
(B) F=oET
(C) =a
(D} =

141, ¥
(A &
B) #
| (cy
(A o

TH= v |

144,

1485,

142, ‘53 =1 fisdt

143,

RPN TA Y.
) FET S 1"

(8)
[C} ==
(D) T

e




S

8w zEE TR w5
(&) R
(B) ERF g

{C) e =
(D) gl waTt A

87, 0 e e
(A) 3
(B} Fan

c) #f

(0)

148, iz ] f g

R
(A) #
B} =
(cy =t

(D) &

T e fe )

=1

JDD-THCK-14

180, TS gmundsE

157,

162,

153.

(e S & b
A #

B A

cr =

0y S

ST A |
(A) &
(B}
(C) =1

o) @
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154, BSF._ . SETIERE
[a)
(=T
©) i
(O} %

155, 4T glEE Ry T
(AL ST
(B) TvE
(G} &
(D) Hw

el T |

BT A W & w7 TR ﬁﬁrqﬁmﬁwﬁ-ﬁ
A | o v e oft e 6 FaE
& i e | =8 AT T {5 T AR
naﬁmmﬂmwaﬂm% T
SR T e 3 o e s A
TR | TR e S T e A
Juh TR )RR WE R | S s g o
TaE w & At £ e ey
LT S T

156, ARES__ 9R T @i
W FEfar g |
(A) T
(B &
) #

(D) ="
A

167,

158.

159.

160

L e e L

ST ERHE B R R 7
() TEn

By wTIH

(C) =t
(D) =3
e R g R R
TH 7}
(A} TR
{B) Tg=
o i
(D) W T
ST T T Tt e & 7
(A)
(B) THw
) Uit
(D) T

ST whmm s
ik i

(A} PET
(B) uefe
{cy wF
(D) T
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Directions (0s. 161 1o 168) : Aoy each
“Sanfence to fing ot whether thera js Ay
'\ Brammatioal of idiormatic arrar it The amror
- iFary will be i ohe Partof the senlence. The
'riL_:_m[:[en_'n::f that pant is the answer. If thare is
Agerror, the answer is (D). (lgnora the el
of punctuaticn, if &)

181, Thisis one company whis ot oty (A
selis its products bt alsa (Bl gives aoed
after-sales sanice, (G Mo emror (D)

) 162 Things will niat improve (&) unfess WL
yoursalf (BIcok into ik {CiNo ermor (o)

163, Egual opponunities foradvancement
{A)across the lengthr and braadih af
an organisation (Biwil kesp many
problems away, (ClNG error (D)

184, Motlvating empioyees with traditicnal
Aulthority (A)and financial Inesntivas
have hecome {Bl/incraasingly
diffficult. [C)/Ne arrar ¢ (8]

185, Two people. the clerk (Alland the
typest helps me (BN my office. {G)/
Mo errar ()

186, He could succeed in [Alicatehing the
Ball before (B)Yit reaches the
boundary ling, (G NG error ()

Directions (s 167 10 170} In each of the
following santences, there ara two blank
Spaces. Below each santanee hera ars four
pairs of words denotad by the numbarg (A
B}, (Cland (D). Find out which pair of words

an be usad to fill in tha Blanks in the

A

JDD-THCX-14

v} Test of Language : English
ATET WETEOT ¢ aiay

sentenca inthe sam Bsequencs to make the
sentence Imeaningfully complete,

167,

168,

==

1740,

Ha iz usially. 1L it today
he appears rather X

(A quiet. calm

iB) strict, urwel|

C]  happy, humorous
(D} calm, disturbad

Feisso —thal everyone
15 always — 1o hels him
in his wark

(A} magnanimous, Sager
{2} halpful, reluctan:

iC) adama nt, enthusisstic
13 criel, ready

liis ___forevery Te=payer
lo —_thetax retums ta
the Incame Tax Department,

(Al easy, pay

(Bl abligatory, submit
(S} difficult, send
D) worthwhile, evada

The polica — ___any aftempt
afarson by _ — aithe
rouble spot quite in tima,

(&) madg, encircling

(B) squashed, surfounding
() ftoiled, anmiving

(D) encouraged, remaining
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7. g

172

173

The plural of brother-in-law is
(A} brather-in-laws

(B} brotharsdin-law

{C}  brothers-in-laws

{0} none of these

The plural of journey is

(AY joumias

(B) journsis
{C} |oumeys
{0} jeumay

The werd 'Doctor’ is of which gender 7
(A} Mascullne Gender

(B) Femining Gender

(T} Mewter Gander

(0} Common Gender

Directions (Os. 174 o0 177} : In each of
thizse questions four words are glven, of
wiich lwe words are most nearly the same
of Gpposiie in meaning. Find the two words
which are most nearly the same or opposite
in meaning and choose the number of the
correct letler combination in your answer.

174.

A

[Pl incomparable [0} abundance
(R} projection (8] plethora
A P-0

(B) @-5
{C) P-R
{0 P=-5

U0

1750 (P)germana (G} generale
(R} relizble (5] irraelevant
(A P—-=0
gy P8
Gy F—8
(L} R=5

176. {P) slated (@) explic
{R} eceentric (S} abnosmal
{A) OG-8
{8y P-R
(€] Q-A
(D} B~5

177. (P} Insecure () nascent
{R} emerging [5) consant
(A&} O—R
8y G-35
Cy PZQ
Dy P-H

—

Directions {Qs. 178 to 180) : In sach
sentence below, a wordigroup of words has
reen underlined. Below sach four choices
Ay, (B), (G, (D) are given, Pick oul one
whigh can substitute the undedined word!
group of words correctly without changing
the'meaning of the sentencs.

178. By such time you finish that chagter, |
will write aletter,

{&)  The fime when
{B) Bythetime
() By that time
(D) Thetims
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‘She cooks, washes dishes, daes har
home worle and then rolaxing.

A relaxing then

B} then is relaxing

(C) relaing is then

VTS
|

(B} then refaxes

. The chemist hadn't hardly any of
those kind of medicines.,

{éﬁi had hardly any of those kinds
{B)  had hardly not any of those kinds
1G] had scarcely any of those king
(B} had hardly any of thase kind

181 Without changing the meaning of the
below given sentenca, transform the
degree. of comparison  from
‘comparative to positive

"Logic is more uselul than love"

A} Love is not as useful as logic

(B] Love is not much usetul a3 logic
(C)  Loveis notas much useful as logic

{0} Love is as useful as logic

182, Without changing the meaning of
the balow given sentence, franstarm
the degree of comparizan from
superlative to comparative.
"Abhimanyu was one of the bravest
Of warricrs"

[A) Abhimanyu was braver than all
other warriars

Abhirmanyu was braver than most
of the other warriors

Abhlmanyu was braver than very
few other warriors

Very few warriors wera bravar than
Abhimanyu

()
(C

=)

JDD-7HCX-1a
Directions (Qs. 183 lo 185) : Rewrite the
santence given in each question as directad
in the bracket,

183, ‘Noonelives thare”, (imo a quastion)
{A)
B)
i<
(0}

Do any one lives thare 7
Any one live thera ?
Does any one lives there 2

Does any one live thera 7

184, "The sage is sucking up the river,
(inte passive) (Change the voice of

the verb from active ta passiva)
W) The river is being susked up by the
sdge

(B}

1<)

Therivar ig sucked up by the sage
The fiver was suckad up by the
sage

(B} The river sucked up by tha sage

185, "Since he was ill, he did not attend

lhe offica " {inte a simpie senfence)

|A) Hewasill so he did not attend the
offica

(B) Because he was ill, he did not go
o otfice

{C} Being ill, he did not attend the
office

(O} He did not attend the offine,

because he was il




o - = - - ——

JOD-FHC/X-14

Directions (@s. 186 to 192) : |n thess | 150,

gquestions, sentences are given with blanks
1o be filled in with appropriate word(s). Four
alternatives ame suggasiad for each gquestion.
Choose the correct alternative oul of the four.

186_ When she was caught rad-handed,
¢ she knew that her plans

failed. 181,

(&) hava
(B] ware
(C) are
{0 had

187, Mrs. D'soura awake 192,

tha whole of last night warred about
her huskand's heaith.

(A) laid
(B} lay
(C) had laid
(D) lied

188: | K far a rmorning walk
regulary, but now | don't go.

(&) had used to go
(B} wasusadiogo
'[G} used la go

(B} am going

188,  |eongralulated him his
BUCCHSS,

(&) for
(B] on
(G) te
{0 with

183,

154,

Lin
LT

The game had begun
whety it started raining.

(&Y unusially

(B} nosooner
{C}  Rardhy

(¥ marginally

Falways like loeat of food,
(A this kind

(B these kinds

() thosekind

{03 this Kinds

[ hope i can __my uncleio
lend ma his car for the week-snd.

AT order

(Bl persuade
(G authorise
(O} explait

Choose the word npq:n:rsFta in
meaning 1o the word PRESERVE

{A) Heserve
{B) Restrain
() Destray
(D) Praclice

Choose the word which best
expresses the meaning of the word
CONSEQUENCE

Ay cause
(BY reason
(G mannes
(I result
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authority and *ﬁ nal
tecome INcreas!
bacome Eﬁﬂnﬁfﬂ
daﬂanda_fmy
ergani in
EIFFEIE'[H:

JD'EI-TJ’ HEHE—!#

2 fiay bo ﬁiﬁ:ﬂﬁﬁd 1o join and remain
ganisa .r.. w receive urgamﬂa.'nnnal
s Lﬂm ;Bgm m:::twated tex join an
anisatiorn is.ifus't the same as being
tp'exarl affort in ana rganisation.

19?&. Tjﬁ r:-mﬂﬁ af the decrsasing
emqqa-*nf the amplayess on ay
oo particular arganisaticn is
{E} e employass depend more of any
'éﬂsgamsahnn

}{3{"’& & easy to motivata the
amployees with cash incentives

eﬁém

s hecome not 50 easy 1o

vate the stafl with fraditicral

ity

(B) employees do not intend o
' iﬁﬁ_;ﬁaﬁi&ﬁmnmmmahly saCUre

188, *[Fhﬁf" ﬂﬁﬁ.ﬂl[‘l@ of fthe word
- : _“'1555 i the passage is

: Eﬂaﬂﬂsﬁ
. Definitely

r 'tﬁthls passage, which of
ih}ﬁ wing does not prevant the
it from awarding cash
hﬁﬁ = tor mproved perommance T

Ay Natuts of the job
By T r#[ar Lian

#-}ir Gavernmental nule
(D hone of these
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IMPORTANT INSTRUCTIONS TO CANDIDATES
IHEER % T TETY SRy
11, This bookiat aontaing 48 panas, 11 $H1i|ﬁ~|mﬁ4ﬂ TR
12, Please check all ma mEgos of e Baoklet i 2 b
‘edrefilly. In casa of any defect, ploass pek 2. ?_ﬂ@ﬂﬂ:l%?ﬁ'ﬁﬁ[{%’rw%@ﬁﬂﬁﬂr# uf
the Invigliztar fos replacement aftha Bonkio) T 2, ) Sl o T TR |
3. Directions ; Eqch question or incamprate B = o SR T e I
statement is followed By four aternotive k. T T] Wﬁwﬁ)ﬁﬁ _ﬁﬁ
~L9geatad answers or complatione. 1o erch ST ST ST 45 vy e EE ST
- TR5S. YOu are femiingd fo solec the ane that AT ] o T8 1 0 1 ] e
Corraciy anawers 1o Tuestion ar compiatag 3 ST A 2 I -ThE
e statemant and blackan (@) APPrOEis S
tircle A, B Cor by Bhig ¢ Bleck Bal-Paint L ~:‘-Elﬂil:_“ﬁﬁtﬁi'{ i "_ﬁr B Cap i ¥ty
Pan against the quastion Boncerned in the pl G e - (@) 7@ ¢
Answer-Shagt (Fer V.H. candidates (g ToEET T TN
Corresponding circle Will be blackenad S > ﬂﬁm?_ :F
by the sciiba) PR g ki
T4, Mark “’“.L;""“Er By shadﬁ e ap:}mrlhﬁghe T e E%??E&T-Fﬂj?rﬁ[ o A
cide against age question. Th citck sheuli he I T e i Rt v s mm s o
1aded compieten; without feaving any sy T fa‘TﬁTﬁH"_’{ﬁﬁﬂT al
The comeet methad of SNAgding is tivan bajou TS = w5 mel ey A a2 |
ﬁmﬁﬁim_*ﬁ__u mﬁmmmj S erhen| e | T || e ?ﬂr_ﬁ_w‘r_ﬁ’
e letet el ol Vot v R LEGCI0000|ce 00 |0e Lol
The Candidale must mark histhar respanse i L T e e &
after careful considaratian, ST T s A
Y9, Thera is only one CONBCE answer fo gaoh 15, e e el T Gl e e AT
question, Yoy shog|d Blackan (@) [he cirale A A o 2
of the appropriae column, viz, & B g 0. I‘_«"E'f:"ﬁ WIETH Sl "!'"_ ) Gﬂ RLR T
I you blacken (@) more than one circle B % T (@) Fa |l 317 ) s 3
Aainsl any onpe quBsTon, the answar il b i T I e e
tremted ag oty A vouw wish 1o cancel g EI'?I. e " ;iﬁ o :ﬁ r.’ll?fr
answar, muahmhi:}nmmgta!yerasa!ha!.mach *”%Tgﬂ?ﬁﬁmﬁﬂw | = 3 '*'-Eﬁf_mq“-r
mark in the cirele In the Answor-shaer, an r;.ﬂﬂaﬁnﬁtﬂm:m—_gﬁ?m%mmﬁﬁn
thon backen e cincle. of ravisag MEE o Ee, E—ﬂfrl?ram%ﬁmn %H{sﬁ'ﬁeﬁ ﬁrﬂaﬁigq
18, A maching wifl rpad the: eoded infamation = T T T e 3
in the DMR Aswar-Shaet, |n case the ki E’Il'!, .{'E?ﬂr‘ﬁr |-,=rr-c1;1r ! .
iMormatian I Ingompletesdifterant T the TE. LR, T H R TE 7 e =
Intermation given jn the application form, e UF Dot w2t | i AT S0 S e T
candidaty g oFsuch candidage Wl bes troqtag : ' T el
a5 tancelod T A o mmn d fae B, it T et oy
17. Use the spaca far Iugh work glven in thy ST e el sty |
[Question Boakiet only and pat an tha 17 2t ﬂfi‘ﬁ’[—:{%’ﬁﬁﬂﬁﬁ ﬁ?_i:"ct[“'lﬁ B T
Answer-Sheat s : St
T TG T e e o |
-3 ‘rmamHﬂTrequirnum MK Your answers = ;
In this Booklet. Al answers Mustbe ) 18, n v % e TR I ife
indicated in the Answer-Shoet only. Eaod o Gl o = H# T
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